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H ES) A
UL IS CVV P&D 15.5(1.0+1.5+5.0+1.0+1.0+1.0+1.0+1.0+1.0+1.0+1.0
BKRRF=E | Bk 1.25sq—4c r—70 R
REE M | WERH CcP 28.0(16.5+1.0+10.5
BRze 13.0|13 (IR : Ay Py —Rb)
iR
EE | R
s
TP /K M CVV P&D 6.0(1.0+4.0+1.0
FKRRFE | EKRF=E |1.255q-4¢ r—70 R
RIS g | 7L A2 CP
FEP
iR
EE | R
s
HREF K 600V CV P&D 2.0|1.0+1.0
BUKH: Bk H: 2sq—2c rr—7 ) R
Gy e BREFT CcP 2.8/2.8
FEP
IV2sq BEHRR P&D:--2.0 CP--:2.8
EE | R
H#22 e 2.8/0.5+0.8+1.5
HREF K 600V CV P&D 2.0|1.0+1.0
Bk H: BUKH: 2sq-3c rr—7 ) R
4y R 7P CP 6.5/6.5
FEP
iR
EE | R
H#22 e 6.5/0.5+5.5+0.5
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No B #2 X [ BoRE AR B 2 X 4y | EEiest ¥ OB B v oML
E | = A ¥
9 | R KR 600V CV P&D 2.0/1.0+1.0
R T il BT 2sq—2c r—7l R
cp 3.0(3.0
FEP
IV2sq BEHAR P&D:-+2.0 CP--:3.0
EAE | MR
H#22 s 3.0/1.5+1.5
10 | ESREE— KM CVV-S P&D 2.0/1.0+1.0
R Tl BT 1.25s5q-2¢ r—7n R
Ccp 3.0(3.0
FEP
Stk
EAE | MR
#28 s 3.0/1.5+1.5
11 | ESREE—oKiEHE CVV P&D 2.0/1.0+1.0
R Tl BT 1.25sq—4c r—7n R
cp 3.0(3.0
FEP
Stk
EAE | MR
s
12 | ESREE—IkiEHE CVV-S P&D 2.0/1.0+1.0
R Tl | 7L A2 |1.255q-2¢ r—71| R
CP 2.512.5
FEP
Stk
EAE | MR
#28 e 2.5/2.5
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No B #2 X [ ok FE OB B 2 X 4y | EEiest B Bow
E | = A ¥
13 | L& — K CVV P&D 2.0/1.0+1.0
R T HilfEE | 7L A2 |1.25sq~4c r—71 R
CP 2.52.5
FEP
AR
EE | R
s
14 | BRIk 600V CV P&D 2.0/1.0+1.0
T HEEE |7 P |2sq-3c r—7 R
CP 5.5/5.5
FEP
AR
EE | R
122 BEE 5.5/5.5
15 | ESREE ki Y 600V CV P&D 4.0/10.+2.0+1.0
R Tl BT 2sq—2¢ r—7n R
CP 2.52.5
FEP
IV2sq BEHAR P&D:-+4.0 CP--:2.5
EE | R
#22 e 2.5/1.0+1.5
16 | ESR5E kMY CVV-S P&D 4.0/10.42.0+1.0
R Tl BT 1.25s5q-2¢ r—7n R
CP 2.52.5
FEP
AR
EE | R
#28 AR 2.5/1.0+1.5
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No B #2 X [ ok FE OB B 2 X 4y | EEiest ¥ OB B v B L
E | = A ¥
17 | ESREE kY CVV P&D 4.0/10.+2.0+1.0
R T il BT 1.25s5q—4c r—7n R
CP 2.52.5
FEP
AR
EE | R
s
18 | 455 kMY CVV-S P&D 3.0/1.0+1.0+1.0
R Tl | 7L A2 |1.255q-2¢ r—7v R
CP
FEP
AR
EE | R
s
19 | ESREE K Y CVV P&D 3.0{1.0+1.0+1.0
R T HIEAE | TLA—28%  |1.25sq—4c r—70| R
CP
FEP
AR
EE | R
s
20 | 458 KR 600V CV P&D 6.51.0+4.5+1.0
R T HIEEE S0P 2sq-3¢ r—70 R
CP 1.0|1.0
FEP
AR
EE | R
H#22 e 1.0/1.0




Z O THEEF R

- we | e | o |FOERR REL T wmr | oot | omn | IR ses "
(A\) (A\) (A\) (A\) (A\) (A\) (A\) (A\)
FOfh T HEEFHFR1/2 1 = 0.17
F O THEEFHFR2/2 1 = 0.25 1.575
& F 0.25 1.745




ZOfth TH THERE 1/2

s | =7 VBRI E AR EAVEEM AR | =T VKRS | =T BASE | KALEHEERRRZES
No HiK| =7V B <0.015 TERRE X 1.75 SuUS SuUS SuUS T #
RES
Bl HAfT =X =X HH HH HH i
1 |ERTEHE 1 1 1 1 1
/N 7 1 1 1 1 1
fli 52 1 1 1 1 1 1
) 1 1 1 1 1
A 1 1 1 1 1
& T BN T3 0.05 0.02 0.1 0.275
/I G 0.05 0.02 0.100 0.17
ki
/N i
mIEER AN T4
/N i
Bl & T BN T3
/I it
1 = B THE 10kg PSS THE Bke B THE 20kg




ZOM T THEE 3 2/2
gn4e | SR AYTER IR BT TV LTI 4y FERE TIVIR T A TIVIR T A
No Hiks IFEARR STV 300X 200 X 150 SUS-WP He T ¥
~F| 14sqg X 13m (1.44kg) 14sq FLAU18mm 200X 150 20001 X 150
il il =2V e {E] {E] 1] {E] {E] B
1 | LS 1 2 2 1 2 2
/I 2 1 2 2 1 2 2
fli 52 1 1 1 1 1 1
s 1 2 2 1 2 2
A 1 2 2 1 2 2
& T BN T3 0.15 0.325 0.275 0.275
/I B 0.15 0.325 0.550 0.550 1.575
Bl
/N i
mIEER BN TH 0.25
/I B 0.25 0.25
Bl & T BN T3
/I &t
1 = AR TR




HLRTHIE T B IR RT3k

Wik | B OF T |miemT s o T iE o0 T B T R e .
N N N N N N N N N N
Wofkom % £ 0.00 5.20
it 000 | 000 | 000 | 000 | 000 | 000 | 000 | 000 | 000 | 520
B OH % B 5
Bt L T &ifEim
100% 5




HLRREE R R

EEIEER g L HliE
4 R WA $om | AL | WL T %% {7 T %% N7 T %% {7 T %% {7 T #% =
T % | b E T E T %% | /b FF | T %% N F T %% | /N F
B pryE 3| B 1.3 3.9 45 KRt
BERR BEA KN TG A 1| A 1.3 1.3| 55—
& g 5.2




A AR R RT3

Wik | B OF T |miemT s o T iE o0 T B T R e .
N N N N N N N N N N
IR 9.09
000 | 000 | 000 | 000 | 000 | 000 | o000 | 000 | 000 | 9.09
B OH % B 9
Bt L T &ifEim
100% 9




FLAERER TR &

EmIEER E L HliE
4 i o A BE | HEAL| MO | T % | WO | T o | MO | T o | ¥4 | T % | ¥4 | T3 =
T % | /N F | T % | /N E T %% | /N3 T % N F T %% | /N F
W FAE aBA (HIAEA) 3 V=7 0.6 1.8
TEHR R R & 7l g 6| A 0.81 486K PR~
VAN S 3| A 0.81 2.43
o 2 9.09




PR HAf— 5

IN=YAYSTEIN: B e Rik e 5




(2) AR & —5 (FEX-1)

- e
BERM | HE
No. |dh |t % &
E-1 VBT FeEL 15 3,500,000
E-2 IRFEBY SR REIERR | REFEKS 1% 500,000
E-3 TUA—LERRRIERR | PR 1 350,000
E-4 AU REIERY LSRRI 120 400,000
E-5 TUA—SRMSREIERY | LK 128 350,000
E-6 AU REIERY LSRRI 120 400,000
E-7 TUA—SRRESREIERY | 4REE UK 120 350,000
E-8 TLA—SREERR | BOIREKS 1= 400,000
E-9 BUKAR T HEESREERY]  Hmik Sy 1 | 3,750,000
E-10 TUA—AEESREIARR | TPk 1 | 2,900,000
E-11 rhOR IR E AR IR BOREKS 1= | 7.500,000
E-12 =7 NV ERES AT L AR 1 80,000
E-13 r—7Nhlirg R 2T LA 1HL 25,000
E-14 IRBLEHREFER S 2T LA 1 80,000
BE-15 | oyl PR - BRNEBERME | 1 120,000
(2) FLAED i — B (B
- e
BRI | 5
No. |dh |t % &
M-1 YAV TR fg?&fACIOOVX & 140,000
M-2 TL—RR—2R PEL15A 1m 1,000
M-3 TL—RR—2R PEL19A 1m 1,200
M-4 7=k ;(;/;X}i 7 L& 18,000




